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l'3" x dx where n is the integer.
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Note: Answer any FIVE full questions, selecting at least TWO full quesiions from each part.tsdtt
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I a. Express .',6* i inthe pou, ffiits modulffind amplitude.
j

b' Find all the values or [l=* 4)"0 ' \ds{h"m

"[2 '"" 2 ) '' *.*l
c. Expand cos60 * qd*:ffif cosines of multipler -gftf';.,

*b.' 'r,
2 a. Find the nth derivative of eu*cos(bx + c)..4\"

b. If y: a qogffix) + b sin (logxj, showphat izyr,*z+ (2n+l)xyna, + (n'+ 1)yn : 0.
c. Find the nrn derivative of cosx cos3x*tpsr*6de :*kU"" ,**r 

,,dir-de:3 a. With the usual notation pr-6ve that tanq = r+;'.*= - ",''tr. -' -ar'-
b. Find the angle betweeil the curves r* = an cos n0 and rn = bn sin n0.
c. Obtain the t{aclaurin}s dfansion of (x},q1ffi'upto third degree irr*r.
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4 a. State and prow Euler's theorem. m .a
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"zb. lf z: (x" v) with x: e'sinv*fuucosv prove thak}.F | .[?l =, " ll oz 1

., T , "(a.,J -(arJ -c 
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c. 4l* = rcosO, y = rsin0$iftei?rove that JJr *+ 1:

-- 
t'n, I x

b. Evaluate by changing th r of integration 
J J t*V + y'; dxdy .

dt'" o o

ll2
c. Evaluate IJI.r"Z*dvd*.
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5 a. Obtain a rd&ffin formula tur $
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6 a. With the usual notation prove that
r(m).r(n)F(m,n)=ffi.

I

b. Prove ttrat J0 +x)"i(l - x)n-'dx = 2'*n-tF(

c. Show that ie--'dx =f,^t; .
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Solve: d\d/ ^@
(xy- x) dx + (xy+ y) dy = km* @'
dy - *yly' . *_W 
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